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qﬁ&ﬁﬁﬁ F ﬁ*ﬁ? ﬁg?T : Instmcﬁousfbr the candidates :

1. GUHTT OMR IF-UF% U¥ 3AT 1. Candidate must enter his / her
YT YT F9% (10 J*T aaT) Question Booklet Serial No.

HTTT r%fﬁ‘f . {10 Digits) in the OMR Answer

' Sheet. o |
2. el FerdE a3 vt o a? 2. Candidates are required to give
S?N g1 . their answers in their own words

~ as far as practicable.

. 3. Qe 3N E'Tﬁ’ﬂ? w ?%'?-S} 3?5‘9_ 3 Figures in the right hand margin
Pica ﬁﬁce' c‘ﬂ# ?h , indicate full marks.

4. T w5t mga‘?ﬁ TG+ @& [0 4. 15 minutes of extra time have
WA F1 15 FAZ F SIRIRE  been allotted for the candidates to
- ghg By A g : read the questions carefully.

INT-A-23/2505-s/10) _ Page 1 / 32




[118]

5. 98 57 Yiwdr 3 @vsl § #— 5. This question booklet is divided

HUS-3 T GUS-T |

W-Srﬁma?gﬁwmﬁ 6.

e & fe=t 35 weat @1 Fm¢

- J AHfyard &1 35 g @ Sifi

H IR a1 W ¥UT 35 FT &

Ocgich= g1 9% & fog 1 3%
Freifi &1 g7t 3w 37 & forg
3YcT¥ FNTH TT OMR ITR-95% o
few 7 wgt ey & A/ @
Jor 97 & wE F/ feat of
TER & WgeA / aeer @t /
&g / AGT T FT OMR Iwe-

qeieT aRom STy @i

.m-a’ﬁzoagaﬁﬁwm

& 1 7% 3 fom 2 s it 8,

g ¥ =t 10 weal &1 =%
3T Sfard & 1 37 ke 39
@vg 4 6 3T IwdtT wyT g g

& 5w & R s dw ke 2

4 @ &=t 3av=t &1 397 &
frart &1

. [} WP @& gelagife 39HTT 1 8.

T qulaar I &

into two sechions -- Section-A
and Section-B.

In Section-A, there are

70 objective type questions, out
of which any 35 questions are
to be answered. If more than

' 35 questions are answered, then

only first 35 will be evaluated.
Each question carries 1 mark.
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided -to you. Do
not use whitener / - liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

. In Section - B, there are 20 short .

answer type questions. Each
carrying 2 marks, out of which

- any 10 questions are to be

answered. Apart from
there are 6

these,
long - answer
type questions, each -carrying
§ marks. Out of which any
3 questions are 'to be
answered.

Use of any electronic appliances is
strictly prohibited.

I INT-A-23/2505-6/10) |

Page 2 / 32



- : (118 ]
@US - A / SECTION - A

aﬁﬁlﬁ' U9 / Objective Type Qpeétioné

WY WEAT 1@ 70 AF % WRF 9yA & @y 9% @ Ry g & fd 8
ﬁ#?rmﬁmgﬁwaﬁﬁm#ompﬁzwﬁ@ﬂﬁaﬁf&ﬁ

357 BT I - 35x1=35

‘Question Nos. 1 to 70 have four options, out of which only one.is correct.
You hdve to mark your selected option, on the OMR Sheet. Answer any

35 questions. 35x1=35
1. ﬁlﬂ%ﬁaﬁaﬁmﬁaﬁ?mﬁﬁﬁ#aﬁmﬁw% 2
@ Agt ®) cu?
€ . Zn?* - | | (D) | Au?
Which of th_e follciwing ioné of trénsition elémen;cs is paramagnetic ?
@ At (@ cu¥

L

(o Zn?t - (D) Au*.
-ﬁm%ﬁaﬁﬁ@%@gmmaﬁrw%?

'{A} Fe, Co 3R Ni . B Cu3ﬁTZn
€ Cu,Ag 3R Au | (D) Au S-ﬁI Pt
Which of the followmg is called coinage metals ?

(A) Fe, Co and Ni \/]/ Cu and Zn

(C)  Cu, Agand Au (D) AuandPt_'

INT-A-23/2505-6/10) Page 3 / 32
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3, -WW%WWWWWWW ?
W | @)
Q) EFF{ | . (D) AEE
W};O gave the first important thcory'of coordination compoundsf?

“(A)  Slater | y/ Pauling

(C) . Werner . (D) . Lewis
4. ﬁm%?@aﬁ@aﬁq@ﬁ%mmwm% ?
® A TR (B) _K4[Fctcﬁ]5]
{él Wﬁ S (D) Sherer e

‘Which of the following is an example of double salt ?

(A)  Bleaching powder (B)/ K, [Fe(CN),]
(©) Hypo (D) Potash alum

5. Freeiaa o @ @ e frs 2 '
(4 sIAT (B). et SRuHA

() . uHRE A o HREE
" Which of the following is a bidentate ligand ?
(3) EDTA (B)  Ethylene diamine

(C)  Acetate ion (D)  Pyridine

INT-A-23/2505-(6/10) | Page 4/ 32
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N4

[Pt(C,H,)CL,|” # Pt %l affediaor ¥& &
(A)  +1 (B) +2
(C) +3 (D) +4

(A) + 1

() +3 .

frfafaa & € 1 forrd goés € 2

' The oxydation number of Pt in [Pt{C,H,)Cl,] is

Co

(D)

(A) CH,=CH-CHBrCH;  (B)

(C)  CH,=CH-CH,CH,Cl (D)

Which of the following is Vinyl halide ?

(A) CH,=CH-CHBrCH, (B)

() CH,=CH- CH,CH,Cl (D)

\9[/- Proteins

() EEeESe (B)

() A (D)

P

(A) Carbohydrates (B)
(D)

+ 4 _

li3r
CH;—C=CH,

HCEC—Br

Lipids

None of .these

(118 ]
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freffer d a s e ¥

R R
A) . N N
(A) Cc=0 ‘ (B) R/c_o
R R
C N N
(C) e | (D) ’ c=0

Which of the following is ether ?

R ' R
A Ne N
@ >c=o WR/C_O
R _ N _
NG Rz

a?ﬁﬁgwﬂ?lﬁﬁmcmlu-as%qu Waﬁﬁaﬂﬁﬁr—lﬁﬁﬂﬁﬁﬁﬁ@
I W BIAT & ?

A) e S (B) ST Uoshlaicd
©) T | (D) FARIEAA

Which of the following is obtained on heatmg aqueous solution . of
benzene diazonium chloride ?

(A) Benzene : " (B) Benzyl alcohol

~ \}Ql’/"/ Phenol _ | (D) Chlorobenzene

11. S GIfsh 37T &l Hig H, SO a‘?wnﬁ%mw%a}ﬁ:ﬁﬁgﬁﬁ

¥ &I U gar g ? |
(A) co, (B CH,HSO,
(©) aq‘iarr‘ﬂ%ﬁ 3T (D) CO

Which of the following is obtained when formic ac1d is heated with
conc. H,S0, ? '

A co, . (B) CH,HSO,
(C)  Oxalic acid | \}9’[ co

|INT-—A-§3 /2505-(6/10) l | Page 6 ;'32
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14,

(118 ]

OH |
CHy~CH—COOH &l [UPAC AH &
()  dfes e () 2-EIEgEdl WU TR
(C)  SUARH 37T D) FH ¥ FE T

. . H
The IUPAC name of CH~CH—COOH is

(A) Lactic acid o \(% 2-Hydroxy propanoic acid
(C) Propanoic acid (D)  None of these

QS S G S T S

() [Ag(NHg),|* ¥ (B) Cu(OH),
©  Ag,O - l(D) Cuo
Which of the following is Tollen's reagent ?

By [Ag ﬁNHS}E I*ion - (B) | Cu{b_ﬂyg _
(CJ AgQIO. - D) Cuo

-

o 3 & = HEERY sffr 4a ¥ 2

(A)  CH,CHO M{o

(©) HCOOH | (D) CH,COCH,

Which of the following gives Cannizzaro's reaction ?

(A) CH4CHO . (B) - HCHO

(C) HCOOH (D) CH,COCH,

INT—A-QS?ZSOS-(&; 1&1 Page 7 / 32
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16.

17.

[118)
Prfiafiae & & Wi wlerede Sy & SgC A § 9 S € 2
@A) T . (B) T
C) WN (D) @Fl(—rﬂ?r

Which of the following carbohydrates is the most abundant in

nature ?

{A]: | Glucose. | (B)  Fructose

(C) Starch o - e Cellulose
ﬁw%{ﬁaaﬁﬂﬁ#‘s’@miﬂﬁmﬁwm% ?
(A)  GHE | | (B) éaaml

© wew o e

Which of the following disaccharides is present in milk ?

(A) ~ Sucrose ' B _ q}/ Lactose

(C) ~ Maltose L (D)  None of mesc
Rt 4 1 TR T R § @ B Y 2
RN I
(©) T | (D) ﬁﬁﬁ?ﬁl‘s@ |
Which c-f the following is the chemical name of vitamin A ?
(A) Thiamine (B)  Retinol

N Agcorbic acic-i (D) Nicot{nan;ide

[INT-A-23/2505-6/10)| beae 8/ 32
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18. Prericifaa ® } 97 foerim w@ o g § 2

A) AR B B) . C3RD
C) B#ERC (D) AJRD
Which of the following vitamins are soluble in water ?
(A)  Aand B () CandD
(¥f  BandcC D) AandD
19. e & e dgfem afe e & 2
A TREE @ wEmE
© g BCEE R L
From which of the following is insulin secreted ?
(A)  Thyroid N (B)  Pancreas
(C)  Adrenal bod} . (D) None of these
20. ﬁaﬁqgaﬁﬁ@ﬁmﬁf@aﬁﬁaﬁqﬁnm% >
@ A0 | @ |
©) S e ) O TR
Which of the following discases is caused due to the deficiency of
Vitamin E? - | . | -
() Beriberi | \/ Scurvy
(C) A_[;lti_ferﬁ]jty _ [D] None of these

IINT-A-QS]QSOS-(G!IO] | : Page 9 | 32
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WFlas IR Fefefaa & @ feae agos ¢ 2

(A) TR @ (B) EEIGRCD
(C)  IEEUH =T (D) =g 9 H1$ 7@l
Natural rubber is a polymer of which of the following ?
I_[A] Ethylene - (B) Benzene:
r{-(;l/ Isoprene (D) None of Fhese
CH, _' |
CH3—¢-Br &I [UPAC 71
CH,

(A) Zﬁmﬁaﬁﬁ FARITE
(B) HHUSH Hfeor FARRS -
(C) 2-siT-2-Ae Wi

(D) 2, 2-SEHY- 15T

o
The IUPAC name of CH3—?—Br is
. CHa
(A) Tertiary butyl chloride

(B) Secondary butyl chloride

(C) 2-bromo-2-methyl propane

\9/2, 2-dimethyl-1-bromoethane

————— — —
INT-A-23/2505-(6/10)
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24.

25,

(118 ]
dfeser £EES T ITE Frfees o ¥ fred foin F @ ¥ 2
w) T B) TeHH
© TR ) A wed

Alkyl halides are used for the preparation of which of the following ?

(A)  Alkane | (B)  Alkene

(C) _- Alcohol o (D) Al of these -
ﬁmﬁmﬁ@.mﬂﬁmﬁ-vﬁ:%—m% ?

(&) CHzCcl . (B) - CHCl,

© cc, (D) CH,Cl,

Which of the following compounds has zero dipole moment ?_

@ CcHia . Mrﬁns

.écm o .(b} CHC'I-

ﬁﬁaﬂvaﬁ%waﬁﬁﬂm%aﬁm@wm%

a) et B) e

(o | (D) T

Chloroform on reduction with zinc and iva@er gives
(A) Acetylene - (B). Ethylene

INT-A-23/2505-(6/10 | T Pagell/32
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27 .

28.

© cc, D cs

[118)
ﬁmﬁ?ﬁgﬁﬁﬁaﬁ?aﬁt@qﬂﬁwﬁmﬂﬁﬂm?
&) IMTENIRST Gelew  (B) WA

(C) Tl | D) fe dehledt

Which of the following will not give iodoform test ?

(A)  Isopropyl al¢ohol ' (8) Ethanol

(©) Ethanal (D) Benzyl alcohol
A TR Tewied | } - (B) GHvST Uohied

© R ueee O e e

Butan-2-ol is a | o

(A)  Primary alcohol \(B( Secondary élcohol_
(C)  Tertiary alcohol .- (D) D_iﬁy’dric’: alcohol

e 5 @ 1 1ot 3 goreher 2

(A)  CH,OH : | (Bi CHCla
2
Which of thé folloWiﬁg-is soluble in water ?

(4) CHZOH o® CHCl,

© cci, (D) cCs,

INT-A-23/2505-(6/10) ’ Page 12 / 32
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20. freea o 9 1 Gem At &
w7 B) 8

© e o) 4

The total number of crystal systems is

\(}‘/?. | (B) 8

© 6 D) 4
&) /ot 13 2w Ak 2

() W | (B) ﬁv{r

(€ WifsaH FNES (D) T

Which of the following is a covalent solid ?
| _,(,%)’ | Iron B}~ Diamond
/(C) Sodil,;llrl chloride ©) COppér |
(1) et g v s Ao e & o e K
s B 4 |
(C) 8 : (D) 12

The coordination number of a metal crystallizing in a hexagonal close

packed structure is

© 8 \[}/12

INT-A-23/2505-(6/10) Page 13 / 32
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32, ﬁﬁf%ﬁgaﬁﬁafmaﬂw’ruﬁﬁﬂﬁ%?

(A) @(“?1?+le1§7-[
B) - frumet seweet + SuEer aeEEe
L@/W+wﬁq

D) FH m + Taferes raeitee

Which of the fqllbﬁring is -not an ideal solution ?

(A) Benz'en-e + Tc;luene

(B)  Methyl alcohol + Ethyl alcohol

(C) | Chloroform +Acet011;e |

(D) - Carbon tetrachloride + Silicon tetr'af::hloride _
33,/ et 4 & i s et 4 e T £ 2

&) T ¥ o ) ﬁﬁ”f%a‘“l_

() = sifee s D W A

- Which of the following can pass thrmlgh semi-permeable membrane ?

8y Solvent molecul_és B Solute moleculgé
(C)  Complex ion (D)  Sitmple ion | |
@ af% 18 ¢ T T 1000 g T 3 T o e A
(A) 1HR | (B) o1 HiAe
© o1®R® . © o5

INT-A-23/2505-(6/10)
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If 18 g of glucose is-dissolved in 1000 g of solvent, then the solution
is said to be |

(A) 1 molar . tB)/ 0-1 molal
/" A
0-1

.moleul' (D) 0-5 molal .

§ q foruen Fauiw FaQ oifuss g 2

(A) T H 1% B - (B) w@H 13.@'&
(). ST H 1% NaCl | (D) S H 1% IRan
Which of the Ifo.].low_ing will have .highcst boﬂin_g point ?

(A) 1% glucose in water (B) 1% sucrose in water

\y/l% NacCl in water | (D) 1% urea in water

s6.  Frefefan & & e st 3 GER e e & 2
(A) CH,CHO (B) C,HgOH

(C) CH4CHOHCH, (D) CH,OH

' Which of the following gives Acetone on oxidation ?

(A~ CHsCHO (B) C,H OH
(C) CH,CHOHCHj; (D) CH,OH
37. WS UHMA frareiier TETe &
(A) —NH— | (B) — NH,
(C) NH 3 | (D} NHj

INT-A-23/2505-(6/10) | | Page 15 / 32
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38.

39.

40.

.[118]

The functmnal group of secondary amine is

’ NH, _ (D) NHjJ
CHy~CH~CH, %1 [UPAC A
- NH, | -
(A) ﬁﬁﬁﬂtﬁ‘:{ S (B) m@ﬁﬁﬁﬂtﬁq
(C) WEoTHE (D) WE-1-GHE
The IUPAC name of CHy~CH—CH is
NH2 l
(A)  Propyl amine | (B) Isopropyl amine
(C) Propan-2-amine (D)  Propan-l-amine

uﬁﬂﬁ&ﬁqﬁaﬁmmaﬁqﬁm@wﬁwﬁ%ﬁﬁﬁﬁ
ﬁ?w%?

(A) @W | (B) U® IegeR U
© T W O TR

Priméry amine on reaction with Grigriard reagent gives which of the
following ? '

(A)  An alkane (B) A higher amine

(C) A secondary amine (D) None of these

frafafigd & 99 vee aRE S 2

(A)  CgHgNH, | - B (CH;),NH

(C) (CH:; J3N | (D) NH,

INT-A-23/2505-(6/10)
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41.

42,

| (118
| Which of the following is the most basic ?

(&)  CgHgNH, ' '(B) {CH,),NH

©) (CHyN (D) NH,

ﬁm%ﬁaﬁﬁﬁ?%wﬁ AT & 2
(A) oA GHIeh 3T _(B]' I TEEETEE

- (© p-ETE WO FARES (D) T | B¢ Tl
' Which of the fol_lowing is Hinsl:;efg feagent ?

(A} Benzene sulphonic acid

(B} Benzene sulphondmide-
(C)  p-Toluene sulphonyl chloride

(D} -None of these
.ﬂaﬁﬁzmﬁgﬁaﬁmBrzjKOH@W?ﬁf%?ﬁﬁmfﬁf@Hﬁ

FATAME 2

e (8 i

) Udrfeeess (D) T
Which of the following is formed when acetamide reacts with
Br, /KOH ?

(A)  Acetone © (B) Methyl amine

(C) Acetaldehyde (D) - Ammonia -

Nacmmahwa;aqam@mmﬁmw@awmw' -
T E ? |

(A) A | - ® difsaw
(©). Wifean FHATH (D) R

INT-A-23/2505-6/10 | Page 17./ 32
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45.

[118)

. . 1 .
>Whi0h of the following is deposited at cathode on electrolysis of

aqueous NaCl solution .
(A) Chlorine (B}~ Sodium
{C)  Sodium amalgam \_93/ Hydrogen
Frfefa & w5 foore %ﬁ:.ga T G S ¢ 2
() A ey (B A e
(@ Hy03 o WRF®

Which of the following conducts electricity in a solution ?

| {Ai Electrolytes (B) Non-electrolytes
(C}) H, O molecules (D) ~ Copper ;wire
A, B, C ¥R D 4% % WFE Tags v HHE: _3.05 v, - 1-66 V,
-04ovaﬂr+oavﬁw%|ﬁﬁmm§ﬁwaﬂmm
3#?% fFT'T ?
@ A f (B B
© cC ' : (D) D
The standard electrode potentials of A, B C and D metals are

~-3:05V,-166V, —040V and + OSVrespcctwel
o —

— -
following would have the h1ghest reducing power

Y. Whlch of the

(A) A : By B

e o D

INT-A-23/2505-(6/10)
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46. et e BT F1 Y-t g b
G | B AN

(C)  IxA . (D) "R
A

The cell constant of a conductivity cell is

y/lfﬂ SR = B VA

C)  IxA ' : R
© - .o B

rram%rawaxﬁxm 2A+B—»C F & W efefgs § ¥ fHgsd g
 frefE fem s wwa S 7

_1d[A] -d[B]
T ®
(© L‘iﬁ o) T & ah

The rate of chemical reaction, 2A+B—>C can be represented by

which of the following ?
| -d{B]

(B) T

‘I. .

y All of these |

48. qawmﬁa?aﬁ:%m%énwwﬁﬁmfﬁ@ﬁm@ﬁaﬁam :
SIGIEE

3 = K[A][B]Q'.qﬁAaFWﬁ@TWBWW%‘HW

fer <, @t AT |
@A) 'ﬂma’rﬂm% @ fm@smErd
© < @ S E D 'ﬂ"f’z:ffiﬁﬁw%

IINT—A 23/2505 (6/10) Page 19 / 32
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50.

S51.

[118)

The rate law equation of a chemical reaction is represented ag
Rate = K[A] [BI2 . If the concentration of B is trebled keeping that of

A constant, then rate becomes

(A) ~ double (B)  trebled

(€} quadrupled (D)  nine times
T R s @ A R frefefas § @ R W ek
CHATE ? | |

@ | - ® W |

© WK . o @

The rate constant of a chemical reaction depends upon which of the

~ following ?
Temperature (B) Mass
(C)  Weight (D) Time

AR FT T RS T

@ femwe [

r

(C) TR o (D) SiTEe

 The important oxide ore of iron is

(A) - Siderite o @/ Haematite

(C)  Pyrite (D) Bauxite

frrfeiflad & | foFws ST oI sifetor s + 2%

(@A) F,0 | (B) Cl,0

{C) Na,Oj (D) Négo

, |INT—A—23/'2505—15;10} ' Page 20 / 32
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In which of the following oxidation state of oxygen is + 2 ?
(A) F,O | (B) Cl,0
(C)~ Na,O, (D} Na,O
52. {oefeiiad @ 4 Hi7 Wedinfa I g 2
G He o " (B) Ne
© Xe (D). Rn
~ Which of the following is a radioactive ﬁoﬁle gas ?
'h)ﬁf/ He . B Ne
© X © R
s3.  Frefefan 3 @ e s & g el e A s T 2
(A} He (B) Ne - -- |
€ Ar | (D) - Xe

By which of the following noble gases. the maximum number of

compounds have been formed ? .
(A) He | (B} Ne
\/o)/ Ar o ‘(pk Xe
sa. P & @ i g T 2 :
@A) SO, (B) SO,

(C) BFj. - - (D) €O,

INT-A-23/2505-6/10) | ~Page21/ 32
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Which of the following is a polar compound ? |

(&) so, | B) SO,
A BFy I = e P
55. Frfeiiad & w7 wum dsmwor Soht @ wew 2
W NG C® A
© ca L D) Au

Which of the following is a member of first transition series ?

(A} Ni I {13)" Ac
© ocd | | O  Au
56.  Cu2*(z=29) w1 serRi o
A [ghr] 3d%ast ' B [jgAr] 3d74s?
@ (LgAr] 3d° . - © D) [ygAr] 3&5452_4-;;1

The electronic configuration of cu?* (Z=29) is
W hgar)adtast B () aa7as?
© llg-Ar'] 3d° :,' " (D) [,gAr ] 3d84524 p!
57. %ﬁ%{ﬁﬂﬁﬁ@%ﬁ?ﬁtwé ?. | |
&) et (B). AR '_
o rEE (D) hemgE.

iINT—A—23 /25056710 | o Page 22 / 32
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60.

[118]
Which of the following contains ester linkages ?

(A) Terylene : (B) - Hylon ’

() Teflon '. (D)  Bakelite

S 3 @ FF A9 98 e ¥ 2

Ay TEEE 6 | B) A 6,6

(© e o) e

Which of the following is ﬁ thermosetting plastic ?

(A) Nylon6 (B) Nylon6,6

akeli -' D P.V.C.
\-&/B elite '[//]

() TFAE (B) A 6,6
(C) éﬁc‘vﬁ# (D) eI

Which of the following is a polyamide ?

(A)  Teflon | @ Nylon 6, 6
(C) Terylene . (D) Bakelite

ot 4 4 e S et F w A B E 2
(A) e MDERAECICRIES B - TRl
© et o (D)  WEHIAHES

INT-A-23/2505-(6/10) | Page 23./ 32
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' id ?
Which of the following is used as an antacl

. | inacetin
(A)  Magnesium hydroxide (B) Phin

. = de
(C)  Penicillin (D) Smph_ﬂﬂﬂ&tﬂl

;éy/ﬁﬁa%@?

62.

63.

@ e mEEET . (®) Har ST
(©) ﬁ?#{ﬁmvﬂﬁ@-'.(m ?ﬁ:ﬁ |

Saccharin is a/an

l. (A)  Aliphatic hydrocarbon ﬁ/ Sweetening agent

(C]. _ Pol}mﬁclcar compound (D). Sugar

ﬁm%haﬁﬁiﬁwﬂww@ﬁﬁm% ?

8 i HuC00Na  -(B)  ((C;7H5C00),Ca

() C,,H45COOH (D)  C;5H,,COOH

Which of the following is used as a soap ?

(d)  C,,H;5COONa (B)  ( C,;;H,5C00),Ca
(©) CivﬁsscOOH D) C)gH, 1CC)OH
fyfefea § /@ F9 'ﬂﬁraﬂa@aﬂﬁ . |

(A) I _ B) fafes sy

). fefET E | (’b} T ¥ oy
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65.

[118]
Which of the following is antioxidant ?
(A) - Lecithin (B)  Citric acid

(C) Vitamin E (D) - All of these

o e Y sl ¥ o ot ang
(A) 3 feri® AR
B) Wi wEm w fuk @ e
©  wrfue wiEw W R e &
D) THW @r [
The half life -c;f a first order reaction
(A) | does not depend upon rate éonstant
(B) | aoes not depend upon initial concentration
¢/ depends upon initial concentration
%] all of these | | i .
dR - fafa @ m%mﬁmﬁ@wmmm
fE 2 | |
i Fﬁ%wuﬁﬁm (B)  HIfeTeH &I HEH TS
(© Rt 1 HEH TS | O e H T WS
Which of the following cétalys_ts is used in the ananufacture of NH 3by
Héber's process ? |
\X Finely divided iron [B). Fincly diﬁ@ed moiybdeﬁum
":% Fmely dwlded nickel . (D) | _Fm§1y divi_ded platinum
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éﬁmﬁ@aﬁﬁmﬁﬁxﬁmﬁmﬁwwwmm% ?

(A) TR (B) W@haA

(€) & : (D)  SEAIpereH

By which of the following processes colloidal sols are purified ?
o v '

(A Peptisation - \9/ Coagulation

(C)  Dialysis - | - (D)  Flocculation

67. zgsxmwmamaﬁmﬁmﬁf@aﬁ@mﬁnmmm
HETS At g 2

(A). H, ﬁl« CH,
(C) €O, - (D) NH

3

The highest volume of whlch of the follomng gases would be
%

adsorbed by 1 g of charcual at 298 K ?

(A}  H, . ‘(51/ CH,

© ¢,  © N,
68. W@Wﬁﬁ%ﬁﬂﬁﬁﬁﬁwm%?
o A | B) Hre

© R (D) T

INT-A-23/2505 6/ 10,
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69.

70.

[118]

Pyrolusite is an ore of which of the following ?

(A)  Magnesium .  (B) Manganese

(O Zinc o (D) Iron

m%maﬁmmwmammﬁww
ﬁmaﬁaﬁ%

(A) e B) WA

(C) ﬁﬁﬂ? ) FeeE

The process of reduction of a metal oxide by carbon or carbon

monoxide to the metal is called

ﬁ« Smcltmg o - ri@)/l?o_asting

(C) Calcination | (D) Leaching

Wmﬁﬁmmﬁw&mﬂwﬁﬁ:mw
ﬁﬂT%?

(A) Cr . . (B) Ag
C Cu - ©) Zn

Cyanide process is used for the extraction of which of the following

"metals ?
(A) Cr (B)  Ag
(c),~ Cu . D) zn

[INT-A-23/2505-(e101 | ~ Page 27 / 32
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@ug - ¥ / SECTION - B

a9 MW / Shoﬁ Answer ﬁpe Questions
mmlﬁzoaﬁmﬁa#:wmma—ma | 7w & forg

2 3% fraffa & : _ 10 x2=20
Question Nos. 1 to 20 are Short Answer Type.' Answer any 10 questions. Each
10 x2=20

ques;ion carries 2'marks :

éﬁwmw%?aﬁﬁwﬁﬁm@%ﬂm

Heitug & ? - | | 2
What is molal elevation constant ? How is it related to molarity of a
solution ?

2. ST 3NV FeaH § 19 F97 G931 & 7 2

What do you understand by abnormal mo}ecul-ar mass ?
' %at is peptization ? |
\yw%#ﬁti?@wﬁl o - L 3
WHat iS. SO;'pﬁOi'l ? Give an example, | | .

What is slag ?

Sk A,

-
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\&/mwaﬁmﬁwmmw@aﬁ%fﬁ? 2
Nobel gases have cnmparahvely large atomic radius. Why ? |

/ WER 3" F. T ¢ 2 EW 3 ' 2
What are cry_sjcallinc solids ? Give cxalm'ple-

'\Vﬁ%ﬁﬂﬁwwwaﬁ%? | | B

What do you understand by point defects ?
9. ﬁqiﬁaﬁmqﬁaaﬁqﬁg@ﬁﬁamcbﬁw@ﬁﬁmww
ERGUEIPR cicau A | * 2

What is formed when benzene reacts with ethyl bromide in the

presence of anhydrous AICl, ? Give équation.

10. R UeRlEd FNE 2 . 2
What is power alcohol ?
11, SPMES dcl @t WE - AT a1 8 2 | : 2
What are the imimrtant oxidation states of lanthanide cle,men_ts ?
\/ e e SR Sifee T F SR HHd | | 2
: Explain the difference between a double salt and a EEIELJCM

13, dveifa T % 9 TR S 2

Give two examples of synthetic rubber.

INT-A-23/2505-(6/10!| Page 29 / 32
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14, ofven e @ £ 2 2

What are preservatives ?
15, NHj, C,HsNH,, (CoHg),NH T (CoHg)sN ) @A % FGd FH H
- | 2
Arrange NH,, C,H.NH,, (C,Hg),NH and (C,Hg)sN in the
increasing order of their basic strength. .
| 16.I e & fagfaacr | € 2 | | 2

What is denaturation of proteins ?

17. %ﬁﬁﬁ%?ﬁﬁﬁﬁﬂ?ﬁ@_ﬂﬂﬂ%l 2
Give an exarhple of a solution of a gas in solid. ‘ ‘ , _
ym@aﬁm e R EIE, 2
" What are isotonic sc_nl.ution ? | |
19. Ww%?mmmﬁwmmmm%? 5
~ What is soap ? How does it :lact in cleansing cloﬁlés ?
(/WW@WWWﬁmW%? 2

How are metais-rcﬁncd by Bessemerisation ?
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| ﬁé I 0 / Long Answer Type Questions -

me#zseﬁaﬁﬁwnﬁé‘fﬁa—#sma‘rm?!m*
fre s siw Fraftfe & | 3x5=15

Question Nos. 21 to 26 are Long Answer Tg,lpé Questions. Answer any
3 questions. Each question carries 5 marks : - 3x5=15

21. aﬁméﬁmmmmﬁmwmm%?mﬁm

T ? | 2+3

What is the effect of temperature on reaction rate ? What is Arrhenius
equation ?

22 for-reTa e T ¥ 2 G P T S @ e
HL o 2+3

What is electrochemical cell ? Explaiﬁ the structure of an
electrochemical cell. . '

zy(i}' M%ﬁﬁmﬂﬁ%mﬁﬁmmaﬁﬁl 3
(i) ST 3 F T Wig THSE ®F SRR o | 9

Explain the principle of manufacturing suiphul'ic acid by
C ct process. '

L&

Write the reaction of conc. sulphuric acid'with oxalic acid.
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24, “YgEol A & DR SGEEE U i B 61 2mEd w1 5

"Compounds of transition clements are paramagnetic and coloured,
Explain, °

25,  rEEfAw glieen 3R Hefatas gt o g fade it ? 2 x 2}
()  wHfcgsss vd tdHiRfeeee
(i) UHRfCSERES Ud odET |

How would you distinguish between the following compounds by

chemical test ? -

(1) Formaldehyde and Acetaldehyde

(ii) Acctaldehyde and Acetone.

mﬁ%ﬂﬁésﬂtmﬁﬁmmm%faﬁ#ﬁl 5

"Foans both as an aldehyt‘:le gnd an acid.” Expl,ain. _
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